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4 It 4 850| 380,160 EREE 7:3 57 97| 556,200 |7l
24 Ittt 6 640| 180,360 B ;3 65 110| 583,200 |A]
4 It 5 777 311,040 XERE | 77 118| 591,840 | &
2L i3 5 812| 349,920 EXERE i 80 97| 530,280 |F
LY Ittt 6 653] 239,760 ARk Ittt 85 136 551,880 | ]
4 It 6 820| 333,720 AR It 85 93| 447,120 |7]
LY i3 7 612| 145,800 AR i 86 134 601,560 | AT
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M (it 2 624 709,560 e i3 14 509| 360,720
ML |t 2 707| 819,720 4 It 14 451| 241,920
XHE |ET 2 788| 851,040 M4 i3 15 397] 319,680
M (it 2 791 853,200
Mg |EP 2 836| 853,200
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LY P 1 338| 140,400 migd  |MAE| E5 | KE | BAH) &%
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LY Ittt 4 850| 380,160 I i3 1 122| 650,160
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LY i3 7 612| 145,800 | miEd |MAE| F5 | AKE | Gda) &%
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e ;3 1 72| 495,720
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